
Propagation of errors in the evaluation of efficiency
From a recent (2020) ‘tesi di laurea’ in Rome (‘quadriennale’)
(undergraduate thesis)

σN : ???
σn: ???
(hereafter ns → n)

◮ N − n = 124
→ with σN = σn = 287: efficiency could be > 1: ???

� GdA, RM23-07 25/01/23 47/66



Propagation of errors in the evaluation of efficiency

◮ Statistical ‘error’ (meant as ‘uncertainty’) obtained
propagating the errors (this time they are really errors). . .

◮ . . . from two independent experimental values (N, n) ???
◮ Eq. (4.51) correctly follows from the bad reasoning

√

→ σǫ = 0.0049 ≈ 0.005
◮ How much is it wrong?
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Propagation of errors. . . and of mistakes

◮ Finally,
the wrong σǫ = 0.005 = 0.5% becomes 0.005% = 0.00005

Good luck to the experiment!
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